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Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x5=5

Ooq PR B fora

{a) “In a valid argument, if the premises are
false, the conclusion cannot be true.” Is
this statement true?

““qB1 ¢34 &R SRR ST 27 A o
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(b) State the meaning of the Greek word
‘Soros’. ‘

Ne == ‘Soros’I 9 foxr |
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(2) | (3)

(c) Name the chief fallacy under which the 3. Answer any three of the following questions :

fallacy of petitio principii is included. 5x3=15

Petitio principii (B! @FIZBT?{%II WEE] Wﬁmﬂﬂﬁ{ﬂﬁ@m%ﬁaﬁwm:

AWES, GO w9 fors | (a) Write a short note on enthymeme.
Enthymeme i¢$ aft 53 B ot |

(d) “Argument Non Causa Pro Causa is also
known as the fallacy of true cause.” Is
this statement true?

‘“‘Argument Non Causa Pro Causad

(b) Distinguish between mediate and
immediate inferences. '

TGN S AL SR TS N4 (T |

STe; IRA (T IS T AW P’ @3 FUNK (c) Distinguish between proposition and
’ argument.
ml’
e o7 = Y& oS A1 e |
(e) State the meaning of the word fallacy’ (d) Write a short note on Argument ad
used in logic. Ignorantiam.
SHREAS IR A O U o o | Argument ad Ignorantiam ¢ «f5 v
Core e |

() What is fallacy of division? Explain

2. Answer the following questions : 2x3=6 various kinds of fallacy of division.
O 2R e o Rrorem R I R o2 Remm onsa Rfe
(a) State two characteristics of deductive A
argument. 4. Answer any three of the following questions :
o SyepTs (o1 CafEs fera | 8x3=24
o ICR T R M BES R o et Ter fora -
(b) Define mediate inference. (@ Defi t. Distinguish betw
a efine argument. Distinguish between
TR ST I o deductive argument and inductive
. ' argument.
(c) Give example of Hasty Generalization. et @ i | Roeree e S weree

el MU Srree i o e A AT (TS |
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(4)

(b) Write an essay on ‘syllogism in ordinary
language’.
YR SRS TR’ Tercd @ a1 for o

(¢ Why is Argument ad . Populum
considered as a fallacy? Explain the
fallacy with suitable examples. 2+6=8
Argument ad Populum ¥ R @01 ¢y 3fer

Reem 791 =2 ToRe Swmaer @R CRecht
T FAT )

(d) State the meaning of the phrase ‘ad
hominem’. Distinguish between two
major forms of the Argument ad
Hominem.

‘ad hominem’ 3IRALIBE =g o

Argument ad Hominem3 {5l T &FRS
TS <A1 Aefa 1

(e} Elucidate the fallacies of the Red
Herring and the Straw Man with
suitable examples.

Red Herring 9¥ Straw Man R¥5% ™™
1 Ty TrrRaeR G IR o |
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